

$$\begin{matrix} \text{řádky} \\ \downarrow \\ \begin{pmatrix} a_{11} & a_{12} & \dots & a_{1n} \\ a_{21} & a_{22} & \dots & a_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ a_{m1} & a_{m2} & \dots & a_{mn} \end{pmatrix} \\ \uparrow \\ \text{sloupce} \end{matrix} = A \quad A = (a_{ij})$$

$m \times n$   
 $m$  řádků       $n$  sloupců

Ok  $m = n \rightarrow$  čtvercová matice  $\begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$

$2 \times 2$   
 $\begin{matrix} \text{ř} \\ \text{c} \end{matrix}$

Nulová matice:  $\begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$

Diagonální matice:  $\begin{pmatrix} 1 & 0 & 0 \\ 0 & 2 & 0 \\ 0 & 0 & 3 \end{pmatrix}$       jednotková matice:  $\begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$

$\underline{E} = \underline{I} = \mathbf{1}$

Horní trojúhelníková matice:  $\begin{pmatrix} 1 & 2 & 3 \\ 0 & 5 & 2 \\ 0 & 0 & 5 \end{pmatrix}$

Lehobříčková matice:  $\begin{pmatrix} 1 & 2 & 3 & 4 & 5 \\ 0 & 4 & 3 & 2 & 1 \\ 0 & 0 & 3 & 5 & 6 \end{pmatrix}$

Řádkový vektor:  $(1 \ 2 \ 3 \ 4)$   $1 \times 4$

Sloupcový vektor:  $\begin{pmatrix} 5 \\ 6 \\ 7 \\ 8 \end{pmatrix}$   $4 \times 1$

Transponovaná matice  $A^T$

$A = \begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \end{pmatrix}$   $2 \times 3$        $A^T = \begin{pmatrix} 1 & 4 \\ 2 & 5 \\ 3 & 6 \end{pmatrix}$   $3 \times 2$

Symetrická matice:  $a_{ij} = a_{ji}$   $\begin{pmatrix} 1 & 4 & 5 \\ 4 & 2 & 6 \\ 5 & 6 & 3 \end{pmatrix}$

$A = \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix}$   $3 \times 3$        $B = \begin{pmatrix} -1 & 1 & 0 \\ 3 & 2 & 1 \\ 1 & 0 & 3 \end{pmatrix}$   $3 \times 3$        $C = \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix}$   $3 \times 2$

$A + B = \begin{pmatrix} 3+(-1) & 1+1 & -2+0 \\ 2+3 & 0+2 & 1+1 \\ -1+1 & 2+0 & -3+3 \end{pmatrix} = \begin{pmatrix} 2 & 2 & -2 \\ 5 & 2 & 2 \\ 0 & 2 & 0 \end{pmatrix}$

$B - A = \begin{pmatrix} -1-3 & 1-1 & 0-(-2) \\ 3-2 & 2-0 & 1-1 \\ 1-(-1) & 0-2 & 3-(-3) \end{pmatrix} = \begin{pmatrix} -4 & 0 & 2 \\ 1 & 2 & 0 \\ 2 & -2 & 6 \end{pmatrix}$   $3 \times 3$

$-7A = -7 \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix} = \begin{pmatrix} -21 & -7 & 14 \\ -14 & 0 & -7 \\ 7 & -14 & 21 \end{pmatrix}$   $3 \times 3$

$i \cdot \begin{pmatrix} | & | & | \\ \hline & & \end{pmatrix} = \begin{pmatrix} | & | & | \\ \hline & & \end{pmatrix}$   $m \times n$

$A \cdot B = \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix} \cdot \begin{pmatrix} -1 & 1 & 0 \\ 3 & 2 & 1 \\ 1 & 0 & 3 \end{pmatrix} = \begin{pmatrix} & & \\ & & \\ & & \end{pmatrix}$   $3 \times 3$

$= \begin{pmatrix} a_{11} & a_{12} & a_{13} & a_{21} & a_{22} & a_{23} \\ 3 \cdot (-1) + 1 \cdot 3 + (-2) \cdot 1 & 3 \cdot 1 + 1 \cdot 2 + (-2) \cdot 0 & 3 \cdot 0 + 1 \cdot 1 + (-2) \cdot 3 \\ 2 \cdot (-1) + 0 \cdot 3 + 1 \cdot 1 & 2 \cdot 1 + 0 \cdot 2 + 1 \cdot 0 & 2 \cdot 0 + 0 \cdot 1 + 1 \cdot 3 \\ (-1) \cdot (-1) + 2 \cdot 3 + (-3) \cdot 1 & (-1) \cdot 1 + 2 \cdot 2 + (-3) \cdot 0 & (-1) \cdot 0 + 2 \cdot 1 + (-3) \cdot 3 \end{pmatrix}$

$A \cdot B = \begin{pmatrix} -2 & 5 & -5 \\ -1 & 2 & 3 \\ 4 & 3 & -7 \end{pmatrix}$

$B \cdot A = \begin{pmatrix} -1 & 1 & 0 \\ 3 & 2 & 1 \\ 1 & 0 & 3 \end{pmatrix} \cdot \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix} =$

$= \begin{pmatrix} -1 \cdot 3 + 1 \cdot 2 + 0 \cdot (-1) & -1 \cdot 1 + 1 \cdot 0 + 0 \cdot 2 & -1 \cdot (-2) + 1 \cdot 1 + 0 \cdot (-3) \\ 3 \cdot 3 + 2 \cdot 2 + 1 \cdot (-1) & 3 \cdot 1 + 2 \cdot 0 + 1 \cdot 2 & 3 \cdot (-2) + 2 \cdot 1 + 1 \cdot (-3) \\ 1 \cdot 3 + 0 \cdot 2 + 3 \cdot (-1) & 1 \cdot 1 + 0 \cdot 0 + 3 \cdot 2 & 1 \cdot (-2) + 0 \cdot 1 + 3 \cdot (-3) \end{pmatrix} =$

$B \cdot A = \begin{pmatrix} -1 & -1 & 3 \\ 12 & 5 & -7 \\ 0 & 4 & -11 \end{pmatrix}$

$A \cdot B \neq B \cdot A$

$C = \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix}$   $3 \times 2$        $C^T = \begin{pmatrix} 1 & 1 & 0 \\ 2 & 1 & 2 \end{pmatrix}$   $2 \times 3$

$C \cdot C^T = \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix} \cdot \begin{pmatrix} 1 & 1 & 0 \\ 2 & 1 & 2 \end{pmatrix} = \begin{pmatrix} 1 \cdot 1 + 2 \cdot 2 & 1 \cdot 1 + 2 \cdot 1 & 1 \cdot 0 + 2 \cdot 2 \\ 1 \cdot 1 + 1 \cdot 2 & 1 \cdot 1 + 1 \cdot 1 & 1 \cdot 0 + 1 \cdot 2 \\ 0 \cdot 1 + 2 \cdot 2 & 0 \cdot 1 + 2 \cdot 1 & 0 \cdot 0 + 2 \cdot 2 \end{pmatrix} =$

$= \begin{pmatrix} 5 & 3 & 4 \\ 3 & 2 & 2 \\ 4 & 2 & 4 \end{pmatrix}$   $3 \times 3$

$C^T \cdot C = \begin{pmatrix} 1 & 1 & 0 \\ 2 & 1 & 2 \end{pmatrix} \cdot \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix} = \begin{pmatrix} 1 \cdot 1 + 1 \cdot 1 + 0 \cdot 0 & 1 \cdot 2 + 1 \cdot 1 + 0 \cdot 2 \\ 2 \cdot 1 + 1 \cdot 1 + 2 \cdot 0 & 2 \cdot 2 + 1 \cdot 1 + 2 \cdot 2 \end{pmatrix} =$

$= \begin{pmatrix} 2 & 3 \\ 3 & 9 \end{pmatrix}$   $2 \times 2$

$C \cdot A = \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix} \cdot \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix} =$  nechá se

$A \cdot C = \begin{pmatrix} 3 & 1 & -2 \\ 2 & 0 & 1 \\ -1 & 2 & -3 \end{pmatrix} \cdot \begin{pmatrix} 1 & 2 \\ 1 & 1 \\ 0 & 2 \end{pmatrix} = \begin{pmatrix} 3 \cdot 1 + 1 \cdot 1 + (-2) \cdot 0 & 3 \cdot 2 + 1 \cdot 1 + (-2) \cdot 2 \\ 2 \cdot 1 + 0 \cdot 1 + 1 \cdot 0 & 2 \cdot 2 + 0 \cdot 1 + 1 \cdot 2 \\ (-1) \cdot 1 + 2 \cdot 1 + (-3) \cdot 0 & (-1) \cdot 2 + 2 \cdot 1 + (-3) \cdot 2 \end{pmatrix} =$

$= \begin{pmatrix} 4 & 3 \\ 2 & 6 \\ 1 & -6 \end{pmatrix}$

$\begin{pmatrix} 1 & 3 & -1 \end{pmatrix} \cdot \begin{pmatrix} 3 \\ -3 \\ 4 \end{pmatrix} = \begin{pmatrix} 1 \cdot 3 + 3 \cdot (-3) + (-1) \cdot 4 \end{pmatrix} = \begin{pmatrix} -10 \end{pmatrix}$   $1 \times 1$

$\begin{pmatrix} 3 \\ 3 \\ 4 \end{pmatrix} \cdot \begin{pmatrix} 1 & 3 & -1 \end{pmatrix} = \begin{pmatrix} 3 & 9 & -3 \\ -3 & -9 & 3 \\ 4 & 12 & -4 \end{pmatrix}$   $3 \times 3$

$\begin{pmatrix} -3 & -1 \\ 2 & 0 \\ 3 & 1 \end{pmatrix} \cdot \begin{pmatrix} 1 & 2 & 1 & 0 \\ 0 & -4 & 3 & 2 \end{pmatrix} = \begin{pmatrix} -3 \cdot 1 + (-1) \cdot 0 & -3 \cdot 2 + (-1) \cdot (-4) & -3 \cdot 1 + (-1) \cdot 3 & (-3) \cdot 0 + (-1) \cdot 2 \\ 2 \cdot 1 + 0 \cdot 0 & 2 \cdot 2 + 0 \cdot (-4) & 2 \cdot 1 + 0 \cdot 3 & 2 \cdot 0 + 0 \cdot 2 \\ 3 \cdot 1 + 1 \cdot 0 & 3 \cdot 2 + 1 \cdot (-4) & 3 \cdot 1 + 1 \cdot 3 & 3 \cdot 0 + 1 \cdot 2 \end{pmatrix} =$

$= \begin{pmatrix} -3 & -2 & 0 & -2 \\ 2 & 4 & 2 & 0 \\ 3 & 2 & 4 & 2 \end{pmatrix}$   $3 \times 4$

$\begin{pmatrix} -1 & 0 & 2 \\ 3 & 1 & -1 \\ 0 & 1 & 2 \\ 3 & 0 & 0 \end{pmatrix} \cdot \begin{pmatrix} 1 & 2 \\ 1 & -3 \\ 0 & -1 \end{pmatrix} = \begin{pmatrix} -1 \cdot 1 + 0 \cdot 1 + 2 \cdot 0 & -1 \cdot 2 + 0 \cdot (-3) + 2 \cdot (-1) \\ 3 \cdot 1 + 1 \cdot 1 + (-1) \cdot 0 & 3 \cdot 2 + 1 \cdot (-3) + (-1) \cdot (-1) \\ 0 \cdot 1 + 1 \cdot 1 + 2 \cdot 0 & 0 \cdot 2 + 1 \cdot (-3) + 2 \cdot (-1) \\ 3 \cdot 1 + 0 \cdot 1 + 0 \cdot 0 & 3 \cdot 2 + 0 \cdot (-3) + 0 \cdot (-1) \end{pmatrix} =$

$= \begin{pmatrix} -1 & -4 \\ 4 & 4 \\ 1 & -5 \\ 3 & 6 \end{pmatrix}$   $4 \times 2$